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No. Solution and Mark Scheme 
Sub 

Marks 

Total 

Marks 

1 

 

 

(a)     

 

 

 

 

 

 

 

 

 

 

 

 

(b)      

 

 

 

arc AB = 28×0.5236   or other valid method        K1                  

                      14.66 

 

 

       Perimeter = 20 +18+ 14.66                          K1 

 

                 52.66              N1 

 

 

 

 

 

 

Area of sector         or             Area of ∆ 

      
25.205

5236.028
2

1 2 

            
70

30sin1028
2

1


        K1      

           

                Area  = 205.25 – 70                            K1 

                       =  135.25                 N1 
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No. Solution and Mark Scheme 
Sub 

Marks 

Total 

Marks 

2 

 

 

 

(a) 

 

 

 

 

 

 

 

 

 

 

 

(b) 

 

 

  

                  Find  k (Substitute any corresponding 

                            value of  x C and y F)                    P1 

k=32 

 

𝑠𝑢𝑏𝑠𝑡𝑖𝑡𝑢𝑡𝑒 𝑥 = 3 𝑖𝑛𝑡𝑜 𝑦 = 1.8𝑥 + 32          K1 

 

89.6 F            N1 

 

 

 

 

 

Use      𝑓−1(𝑥) = 𝑦 𝑜𝑟 𝑥 = 𝑓(𝑦)          K1 

  

1.8𝑦 + 32 = 𝑥 

 

 

𝑓−1(𝑥) =  
𝑥−32

1.8
                 N1 
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No. Solution and Mark Scheme 
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Marks 

Total 

Marks 

3  

 

2𝑥 + 2𝑥 + 𝑦 + 𝑦 = 34     P1                 2𝑥𝑦 = 60      P1 
       2𝑥 + 𝑦 = 17 

 

xy 217       or  
2

17 y
x




        P1          
 

 

   K1        Eliminate x or y    ( involving one linear equation 

and one non linear equations interms of x and y )                            

60)217(2  xx   or  60
2

17
2 







 
y

y

 

OR 

030172 2  xx   or  060172  yy  

 

    K1     Solve the quadratic equation 

Factorisation 

(𝑥 − 6)(2𝑥 − 5) = 0      or 

(𝑦 − 12)(𝑦 − 5) = 0       

OR 

Use formula 

)2(2

)30)(2(4)17()17( 2 
x     or 

)1(2

)60)(1(4)17()17( 2 
y  

      

           N1         x = 6,  
5

2
   or   y = 5 , 12           

 

           N1          y = 5 , 12    or  x = 6,  
5

2
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Marks 

4 

 

(a) 

 

 

 

 

 

 

 

 

 

 

 

 

(b) 

 

 

    a = 6  or  r = 0.6        P1 

 

        Use       45 6.06T          K1 

 

                         
625

486
          N1 

 

    OR listing method 

                             6,
625

486
,

125

162
,

25

54
,

5

18
 

 

 

      Use 













6.01

6.01
6

4

4S    K1                K1   45 *2*10 ST   

 

                               
625

23056
      N1 

 

OR listing method 

 

    
625

486

125

162
2

25

54
2

5

18
2)6(210 


























  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

  



SULIT 6 3472/2 (PP) 

 

3472/2 © 2017 Hak Cipta MPSM & MGC Negeri Perlis   SULIT 

5 

 

 (a) 

 

 

 

 

 

 

 

 

 

 

(b) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(c) 

 

 

      Use  xxx cossin22sin                 K1 

  

 


















 1

1

1
2

22 kk

k
 

                                                                N1      
1

2
2 k

k
 

 

 

      

 

 

 

 

 

 

 

          Shape of cosine graph                                   P1 

          2 cycles for   20  x                                P1 

          Modulus of cosine graph for  20  x      P1 

 

 

        
π

1
x

y                                     N1 

 

         Sketch the straight line  

         with *gradient or * y-intercept 

         and straight line involves x and y              K1 

         must be correct. 

 

 

        No. of solutions = 4                 N1 

 

 

 

 

 

 

 

 

  

y 

1 

π 2π 
x 

-1 

0 
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6 

 

(a) 

 

 

 

 

 

 

 

 

 

 

(b) 

 

 

   6(5t) + ( 5t)(51) + 2 (
5𝑡

51
) = 7125         K1 

                       5t = 625             K1 

                           t = 4       N1 

 

 

 

   𝑙𝑜𝑔3𝑥 = 𝑚 𝑜𝑟 𝑙𝑜𝑔3𝑦 = 𝑛            P1 

    𝑙𝑜𝑔927 + 𝑙𝑜𝑔9𝑦 − 𝑙𝑜𝑔9𝑥4          K1 

 
𝑙𝑜𝑔327

𝑙𝑜𝑔39
+

𝑙𝑜𝑔3𝑦

𝑙𝑜𝑔39
−

𝑙𝑜𝑔3𝑥4

𝑙𝑜𝑔39
         K1 

  
3

2
+

𝑛

2
−

4𝑙𝑜𝑔3𝑥

2
          K1         

 
3

2
+

𝑛

2
− 2𝑚         N1 
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(a) 

 

 

 

 

 

 

 

 

 

(b) 

 

 

 

 

 

 

 

 

 

 

 

(c) 

 

 

Find  
𝑑𝑦

𝑑𝑥
   and substitute   x=1         K1 

𝑑𝑦

𝑑𝑥
= 2(1) 

 

y – 6 = 2(x – 1)       K1 

 

y = 2x + 4          N1 

 

 

 

Integrate, ∫ 𝑥2 +5         K1 

𝐴1 

 

Use ∫ 𝑥21

0
+5 or find the area of trapezium      K1 

𝐴2 

 

𝐴1 - 𝐴2            K1 

 

3

1
    N1 

 

 

 

Integrate  ∫ 𝜋(𝑦 − 5)          K1 

 

 

Use ∫ 𝑖𝑛 
7

5
𝜋 [

𝑦2 

2
− 5𝑦]       K1 

 

 

2𝜋            N1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



SULIT 9 3472/2 (PP) 

[Lihat halaman sebelah 

3472/2 © 2017 Hak Cipta MPSM & MGC Negeri Perlis   SULIT 

8   

a)            i)      𝜇 = 10(0.7) = 7           N1 

                       𝜎2 = 7(0.3) = 2.1         N1 

 

               ii)   19

9

10 3.07.0 C
  or 

010

10

10 3.07.0 C
     

K1      
 

𝑃(𝑋 = 9) + 𝑃(𝑋 = 10)       K1 

0.1493          N1 

 

 

 

b)            i)                P[𝑧 ≤
345−350

5
]          K1 

            

0.15866            N1 

 

  

               ii)                 𝑧 =  −0.468        P1   

 

                                    
𝑚−350

5
 =  −0.468          K1 

 

𝑚 = 347.66         N1 
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9 

 

(a) 

 

 

 

 

 

(b) 

 

 

 

 

 

 

 

 

(c)   

 

 

i) 

 

 

 

 

 

ii) 

 

 

x10log  0.30 0.48 0.60 0.70 0.78 0.85 

y10log  1.06 1.30 1.48 1.64 1.74 1.87 

 

 

 

  Plot x10log against y10log          K1 

 

    6* points plotted correctly         N1 

 

   Line of best fit                   N1 

 

 

 

    px
n

y 101010 loglog
2

log         P1 

 

    56.0log10 p         K1 

 

             p = 3.63         N1 

 

          
2

n
*m        K1 

 

          n = 3.08            N1 

 

 

 

 

 

 

 

 

 

 

 

 

N1 

 

N1 
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10 

 

(a) i) 

 

 

 

 

 

 

 

 

 

 

ii) 

 

 

 

 

 

 

(b) 

 

 

         𝑚𝑃𝑄 = −
1

3
        P1 

 

       𝑚𝑄𝑅 =  
PQm

1
 or  𝑚𝑄𝑅 = 3      K1 

       Use       𝑦 − (−2) = 3(𝑥 − 4)       K1 

         

               𝑦 = 3𝑥 − 14            N1 

 

   Solve the simultaneous equation PQ and QR      K1 

 

             3(3𝑥 − 14) + 𝑥 = 18        

 

               Q ( 6 , 4 )               N1 

 

 

              
40

)2(

46

)2(8








 y
        K1 

 

                     S(0,2)           N1 

 

          Use distance formula for ST=3            K1 

 

            3)2()0( 22  yx  

 

              05422  yyx             N1 
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11 

 

 

 

 

(a) i) 

 

   

  ii) 

 

 

(b)  

 

 

 

 

 

i) 

 

ii) 

 

(c)  

 

 

    Find resultant vector of  BD
→

 or AF
→

          K1 

   BD
→

 = BA
→

+AD
→

         AF
→

=AB
→

+BF
→

 

   

  
~~
yx                N1 

 

   
~~ 5

2

5

3
yx               N1 

 

   

     Find DC
→

=DA
→

+AC
→

  or  DC
→

=DB
→

+BC
→

              K1 

    
m

AF
y
~

                          
5~~

ADn
yx   

          or                                      or 

  









~~~ 5

2

5

31
yx

m
y                

5

~

~~

yn

yx   

 

   
~~

1
5

2

5

3
y

m
x

m








                      N1 

    
~~

1
5

y
n

x 









                         N1

 

 

 Equate the coefficient of  x
~

 or y
~

      K1 

 

      1
5

3


m
    or   1

5
1

5

2


n

m
 

 

   Solve the linear equation                K1 

   To find m or n. 

     

           m = 
5

3
        N1              n = 2        N1 
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(a) 

 

 

 

 

 

 

(b) 

 

 

 

 

 

 

 

(c) 

 

i) 

 

ii) 

 

 

     350 yx              N1 

 

     xy
5

2
                    N1 

 

 108004560  yx      N1 

 

    Draw correctly at least one straight line from           K1 

   the *inequalities with involves x and y 

 

    Draw correctly all *straight lines                            N1 

 

    The correct region shaded                                       N1 

 

 

     

250105  x             N1 

 

 

(250,100)                 N1 

 

    Substitute any points into 

    yx 4560  in the *shaded region            K1 

 

                                                    19,500     N1 
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(a) 

 

 

 

 

 

 

 

(b) 

 

 

 

 

(c) 

 

 

 

 

 

(d)      

 

 
sin ∡ 𝑃𝑅𝑄

10
 = 

sin  30

6
            K1 

                         56.44° 

 

     ∡ 𝑃𝑅𝑄 = 180° - 56.44°                   K1 

                   

                         123.56°        N1 

 

(𝑃𝑆)2  = 52 + 62 – 2(5)(6) cos 56.44°                 K1 

 

PS = 5.28      N1 

 

 
1

2 
(5.28)(12) sin ∡𝑆𝑃𝑇 = 30       K1 

 

∡𝑆𝑃𝑇   =  71.26°            N1 

(71.25𝑜 −  71.81𝑜) 

 

 

          Find area PRS 

    
1

2 
(5)(6) sin ∡56.44°       K1      

                                    Area PST + Area PRS 

30 +  
1

2 
(5)(6) sin ∡56.44°       K1                                                  

   

42.5        N1 
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(a) 

 

 

 

(b) 

 

 

 

 

(c) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(d) 

 

    

      Differentiate t312 wrt t: 

            3
dt

dv
a                     N1 

 

      Use  v=0  

      0312  t                      K1 

 

                                           st 4        N1 

 

     Use     dtts 312                       K1 

    and substitute 0,0  st    

         
2

3
12

2t
ts 

 
 

      Use  s = -30                   K1 

     

  

 
1

2

2

18

10312

312,

10,0

10,2

0102

060243

2

3
1230

















ms

tvvelocity

tt

tt

tt

tt

t
t

                           N1 

                                                               N1 

 

                                                          

   
At Q, t = 4 

       
 

 
K124

2

43
412

2

mSOQ 
 

       Total distance = 24 + 24 + 30             K1 

 

                              = 78 m                      N1 
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(a) 

 

 

 

 

 

(b) 

 

 

 

 

 

 

 

 

 

 

(c)i)    

 

 

 

 

 

 

ii)  

 

 

     

       
𝑃2015

45
×100 = 120         K1 

                         

                               N1       54 

       

        
     2(120) + 4𝑥 + 1(90) + 3(110)        P1 

     

       
2(120)+4𝑥+1(90)+3(110)

2+4+1+3
= 112           K1 

                       
                 𝑥 = 115         N1 

        Price is increasing 15%.      N1 

      

     Use   𝐼2̅016 = 112×
125

100
          K1 

 

                                         N1         140 

 

     Use     
126

𝑃2014
×100 = 140        K1 

  

                               N1          90 
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